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O +g
0 AlZ2t2e%
62  9.886X1X50AI2HX 12 - 5,932
72 8,9302X3X50AI2HX 12 - 16.074
o MELg
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O ZUHEHONBI
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206
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[ 204 ]
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#e&-AE-S (A) (8) (A-B) & e /| =
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i 991,553 100,915
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01 522 527 37,107
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O Jlea
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o =224
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[ORE=
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A HIZ 20,00094X1.48X4 X 12 = 1,421
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o W=SE0|E 4 500,000& X4200H 2 = 210,000
O = E5t42 EH|Z AHD300mm~1000mm, box)
300,000 X2, 000m = 600,000
O SZAIL A 2 Gt A X2 A
o BA0l4 600,000,000&X1A! = 600,000
12.356 7.680 4,676 ANE=20HHI (401-3)
[ 20a ]
O otx=E&E4 &« CCTVE Y
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StECAIE S ]
1(230) RE X4 (234) PEE  =:(401) AIEHIL 2O [ S27 ] (29:82)
Al OH = 2k - =
&= O(A—B)D Ab = | =
264,000,000 &X0.72% = 1,901
O ot=E7%2 EHl & RAE=>
402,000, 0002 X0.72% = 2,895
O =254 FHIZA
600,000, 0002 X0.63% = 3,780
3,780
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[ HUABIAC A S . I
2:(700) AFRIHIR  B:(710) ZAHIR  MIE:(714) 2AHH =:(101) 2 s chol M)
. oAb o T Of At 2t " & =
= (A) (B) (A-B) =
A 2,778,397 1,979,127 799,270
700
1,133,079 58,618
Nels 1,191,697
710 1 189 297 1,130,679 58.618
ooy g 189, P19 ’
m 1,189,297 1,130,679 58.618
14| 189,
100 898,728 55,550
o212 954,278 , ,
101
o1t 718.879 674,774 44,105
080,602 059,387 21,215[] 22 (101-1)
[ =ola ]
O JzE=2
o 22(5%)
. 62 3,482,8002X1ZX128 41,794
. 72 2,865,2002 X4 X122 137.530
o dz2=x%
179,324, 00021 X231X0.5/ 122 14.944
O =<
0 AZ2tZ224%
62 9.8862X12X50AI2HX 12 5,932
72 8,930 X42X50A] 2HX 12 01,432
o JIExY
i S Xt 40,00081X0.78X52X 128 1.872
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Hist: (714)

AL

[l
10

W o o & = =
ZHES 20,0002 X0. 4X55 X128 = 480
X% 20,00020X1.48X5HX 122 = 1,776
X% JHES 30,00020X0. IX5HX 128 180
o MHSHIEEAY
DSt 446, 70021 X224 X43] 3.574
0 B24Z0H43
2514014 130,000 X2 X128 3,120
2044014 110,000 X1 X128 1,320
1021014 60,0002 X3 X122 2,160
o HRBRALY
5201 3,482,80021X12X0.041X128 1,714
62 TS 2,865,200 X22X0.041X 128 2,820
0 JlEYRLy
30,000 X4Z X 122 1,440
0 JEARLLINZ
JIAb 30,0002 X4 X122 1,440
O uzaly
130, 0002 X5 X122 7,800
O YEFIH
179,324, 0002 X60%X2/ 12 = 17,933
O et At
179,324, 00021 X 162 /2532 = 11,341
438,277 So|HA2EZREA (101-3)
[ =ola ]
O =42 B2(82)
0 Jl =2 29187302AX8X122 = 280,199

o HESIHHl 2,918,730 X8EX22IX50%

23,350




&t (714)

AL

Ol (%F) oA A = ES
o HAUZAIHl  110,0002 X8 X122 = 10,560
0 AZtQIZR2Y 21, 1202X8ZX46AI 21X 122 = 93,266
o IIE=Y
i 2 A 40,0002X0.78X8 X 12 2,996
X =2 20,0002X0.4X 8EX122 768
X HlZ5 20,0002X1.48X8L X122 2,842
T HIZIHAIS 30,00024X0. X8 X 122 088
IPUELTEESS=
DSEY 446,700 X12X43] 1,787
o CIXtAE 112,6402X8X18L 16,221
o BHEZ 100,000 X 12X 122 1,200
o H24Y 50,0008X8YX122 4,800
106 _
S PeTpy 16,260
8,580 -0 === X4l (106-2)
[ 2ole ]
O 2B XY
0 63 155,000 X1 X122 1,860
0 72 140,000 X42X 122 6,720
7,680 - szges83dl (106-3)
[ 20la ]
O szge+usY|
0 ZILSAZ 22 80,0008 X5 X122 4,800
o QBUIAL 80,0002 XX 12 1,920
o HotAD 80,000&4X1EX12E 960

- 44 -




Mg (714) 2:4d| (107) EI=204 =2¢ EHeliEA)
04l &b oK 0l & Z = =
(A) B) (A-B)
219,139 207,694 11,445
[ 2014 ]
O 2IIHeA g A=y
438,277,000 X50% 219,139
235,019 231,951 3,068
66,242 63,942 2,300
20,310 20,310 -] At=22lHl (201-1)
[ 204 ]
O gstagy|
o EMSYAH|l 20,000& X5 X128 = 1,200
o AREEIY
- ZALEX 16,5002 X5 AX12E - 990
T2 AZE 300,000&X4EX30X23] = 7,200
o EI|Yxz
50,000& X1CHX12& = 600
o SHAEZAE HAZH 222 L JIESA2
200,000& Xx12& = 2,400
O Xdthz
660,000& X1CHX12& = 7,920
45,932 43,632 2,300 ] 22294l (201-2)
[ 204 ]
O 332= % MA
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HUYAGIEEALELS A ]
(700) AFHHIE & (710) SLHHIE ME:(714) ZHH 2:(201) Ler2a) [ 267 ] (&91:83)
_ ~ 04l &b oK MUE T O AFH ES Z = =
2. &t & .= A = J =
A (A) (8) (A-B) = |
o MIRS(L+THEIE)
- JI23 10kWX5,720 @I X500 A X128 = 3,432
ArEZ 6,000kWX 105 X5 A X128 = 37,800
0 ZA2 PC 2346 AME2(LEZSHEZZ
40,000X5H AX12€ = 2,400
o BEERZ2
Sex ANSXEE 500,000&X10H = 500
- AX ASXEE 1,800,000 X1CH = 1,800
202
. 11,240 11,240 -
11,240 11,240 -] =uoitl (202-1)
[ 204 ]
O ZUHEHONHI
20,000& X5 X7.5X12& = 9,000
O o= AMNgFE g8
70,0003 X2 X42X43| = 2,240
206
—_— 11,136 13,136 A2,000
11,136 13,136 A2,000 ] et 24l (206-1)
[ 204 ]
O ot E&£2 N € 337
o A2 AQE(EAS) 35,0002 x8Hx128 = 3,360
o JIEIBFES 18,000&X185X243] = 7,776
212
ooy sy 73,951 70,483 2,768
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Mgt (714) 21H]

AL

Ol &F o4

(A)

(im

Pt

52,991

50,223

(] Asl2E 22 (212-1)

!

[ 2ol ]

,277 ,000& X3%
,277,000&X1.5%

HLEEE 438,277,000 X2. 9%
LOEAIIQYEE 12,711,000 X6.55%

o =LUHSRES 438,277,000 X4. 5%

13,149
6,575

12,711
833
19,723

20,260

20,260

O] Jlet=el 4l (212-9)

[ 2oa ]
O 2l
7,0002X13HX15L X122
O =l
200,000 X13&

16,380

2,600

1,280

214

AN

T 7T

73,150

73,150

73,150

73,150

14,400
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Mgt (714) 21H]

AL

Ol &F o4

(A)

(im

Pt

300,000 X1CH

O &7l
250,000 X504 X33

O XX+
1,300,000& X1CHX33l

O W&
1,000,000 X 14!

O 2+=FHBEZY
o ®XAlZel ASSH 1,550,0008 X128
o |XIE= 6,000,000&X5H 2

O #38ad

100,000 X12&

=Xl2el

300

3,750

3,900

1,000

18,600
30,000

1,200

2,400

2,400

2,400

2,400

2,400

2,400

[ 2oe ]
O WEx ey ttets

10,000&X20&IX12&

2,400
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[ HYAGHACAIR =SS ] . I
2 (200) MHERXZE 8:(230) SELNMFS  HIE:(234) PES 2:(401) AU L20H [ 287 ] (249:33)
- - Ol &b oH HMEAT 0f AkoH = 2 A = I =
nl St St ==} Al = s
g2 AE S (A) (8) (A-B)
200 1 586.700 846,048 740,652
JNE=E=DNES eR
0 1,586,700 846,048 740,652
SERAFS oo ’
234
. 1,586,700 846,048 740,652
2=
Ay 1,586,700 846,048 740,652
Al EH L 20 O
1,576,000 840,000 736,000/ ] Al&tl (401-1)
[ 204 ]
O o= &4 Y CCTVE Y
o otx==F4A 15,000&X17,000m = 255,000
o CCTVEY 6,000&X%26,000m = 156,000
O o= X2 HH & RAES
o WEAIA 1,500,000 X700 A = 105,000
o WEE 4 700,000 X3000H 2 = 210,000
o 22 &H| 100,000&X700m = 70,000
o HH#==2A&H| 400,000& X150m = 60,000
O Lot HHISAL
300,000& X2,400m = 720,000
10,700 6,048 4,652/[] Al THHI (401-3)
[ 20& ]
O o= & % CCTV 24
411,000,000 X0.72% = 2,960
O o= X2 4l € RANES
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[

S:(401) AlZHILR0HY]

Il

3,204

[

2X0.72%

P

445,000,000

o

RO

)

1o
(S
H

[

#X0.63%

P

720,000,000

4,536

jut|
Kl

=
o

—

<=

~

or
00
00

£l
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